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Description of Graphoplex
698 slide rule

Description de laregle
Graphoplex 698

This is a slide rule duplex type: framework
structure and scales on both faces.

The front has scales and gauge marks to make
approximate calculations of resonance and
reactance. These calculations are used to
position the decimal point correctly for more
accurate calculations with conventional scales A-
B and C-D.

The front is completed by the L scale for the
mantissa of the base 10 logarithms or indicates
factors gain in dB.

The back shows the scales needed for general
calculations in engineering: numbers scales for
division and multiplication, trigonometric scales,
Log Log scales.

C'est une regle a calcul de type duplex : structure
cadre et échelles sur les deux faces.

Le recto présente des échelles et des marques
repéres pour effectuer des calculs approchés de
résonnance et de réactance. Ces calculs
permettent de positionner correctement la virgule
décimale pour les calculs plus précis effectués
avec les échelles classiques A-B et C-D.
L'échelle L pour obtenir les mantisses des
logarithmes a base 10 ou indiquer les facteurs de
gain en dB, compléte le recto.

Le verso présente les échelles nécessaires aux
calculs généraux de lingénierie : échelles des
nombres pour les divisions et multiplications,
échelles trigonométriques, échelles Log Log.

The slide rule
Front and Back

Laregle
et Verso
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The scales Les échelles

On the front face Au recto

f(Xc) 1GHZ =2 0.1Hz f(Xc) 1GHZ 2 0.1 Hz
Q reactance 0.01Q=2>100MQ | O réactance 0.01 Q = 100 MQ
f(XL) 0.1Hz = 1GHz f(XL) 0.1Hz 21 GHz
A X 1 109 100 A X 1 =10 2 100
[B] X 1= 10 9 100 [B] X 1 =10 2 100

[L] inductance 1000 H = 0.1 pH [L] inductance 1000H = 0.1 pH
[Cap.] | capacitance 1 pF=>» 10000 yF | [Cap.] | capacité 1 pF = 10 000 puF
[CI] 1/X 19 0.1 [Cl] 1/X 120.1

[C] X 110 [C] X 1210

D X 1= 10 D X 1210

L-dB logioand decibels | 0= 1.0—-0 = 20 L-dB logio et decibels | 0 21.0-0 =220

On the back face

Au verso

=> following page

= page suivante

Return to content
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The scales Les échelles

On the back face Au verso

ST Low angles 0.55° 2 6° ST Low angles 0.55° =»6°

T Arc tg 5,7° = 45° Arc tg 5,7° = 45°

S Arc sin 5,7° = 90° Arc sin 5,7° = 90°
DF X 3933 DF X 3233

[CF] | X 3933 [CF] P 3233

[CIF] | /X 0.33 9 0.03 [CIF] | 12X 0.33 20.03
K] x3 1101001000 K] x3 11021001000
[Cl] 1/X 190.1 [CI] 1/X 120.1

[C] X 1910 [C] X 110

D X 1910 D X 1210

LL3 e 259 10° LL3 e 2.5 2 10°
LL2 e’ 11093 LL2 e 1.10 23
LL1 e’ 1.01 9 1.115 LL1 e? X 1.01 = 1.115

Return to content

The gauge marks for electronic

calculations

Les marques reperes pour les

calculs en électronique

On the front face Au recto

Scale Gn?;?ke to value Scale hf:gg?: a la valeur

A 1/47° | 25.33 A 147 25.33

(L] XL 15.915 mH (1/2n~0.15915) [L] XL 15.915 mH (1/27~0.15915)
[Cap.] | XC 15.915 nF (1/271~0.15915) [Cap.] | XC 15.915 nF (1/27~0.15915)
D 1/2n 1.5915 D 127 1.5915

f Cap. 5 kHz f Cap 5 kHz

f Cap. 5 kHz f Cap. 5 kHz

On the back face Au verso

b & In10 ~1.1513 ° d& ln% ~1.1513

Return to content
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Instructions for use

Instructions pour I'emploi

General calculations Calculs généraux

On front face, A-B-CI-C-D scales and, on back
face, DF-CF-CIF-K-CI-C-D scales are used for
the general calculations:

e multiplications and divisions;
e operations on squares and cubes and with the
corresponding roots.

On front face, L scales and, on rear face, LL3-
LL2-LL1 scales are used for operations with
logarithms and powers and roots. The
relationship between the sliding C scale and fixed
LL scales allows the calculation of powers and
roots which are whole or fractional, positive or
negative, and rapid resolution of certain
equations.

Scales ST-ST scales on rear are used to enter,
on D scales, trigonometric functions of angles in
degrees.

Au recto, les échelles A-B-CI-C-D et, au verso,
les échelles DF-CF-CIF-K-CI-C-D permettent les
calculs généraux :

e multiplications et divisions ;
e oOpérations sur les carrés et les cubes et les
racines correspondantes.

Au recto, I'échelle L et, au verso, les échelles
LL3-LL2-LL1 permettent les opérations avec les
logarithmes et les puissances et racines. La
relation entre I'échelle mobile C et les échelles
fixes LL permet le calcul de puissances et de
racines entiéres ou fractionnaires et positives ou
négatives, et la résolution rapide de certaines
équations.

Les échelles ST-S-T au verso permettent
d'entrer, sur les échelles D, les fonctions
trigonométriques des angles exprimés en degrés.

Return to content
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The symbol ® is used to designate the angular
frequency also called angular speed in rd/s
(rotation of an axis: 1 round = 2x radians).

The relationship between the pulse o and the
frequency F is:

o =2n.F

On utilise le symbole @ pour désigner la pulsation
aussi appelée fréquence angulaire ou vitesse
angulaire en rd/s (1 tour = 2z radians).

La relation entre la pulsation @ et la fréquence F
est:
o=2rnF

On back face, the slide rule allows to materialize
this relationship:

 align the index 10 of the CF scale to the
- on the D scale.
e we can then read

- ® on D scale in line with F read on C
scale,

- or ® on DFin line with F read on CF.

Au verso, la régle a calcul permet de matérialiser
cette relation :

o aligner [lindex 20 de l'échelle CF avec le
ERifffe’2 de I'échelle D.

e on peut alors lire
- wsur D au droit de F lu sur C,
- ou bien @ sur DF au droit de F lu sur CF.

Examples below

Exemples ci-dessous

F=17kHz/C ®=753rd/s/DF | ®=107.10°rd/s / DF F=80Hz/C
o = 107.10° rd/s / D F=120Hz/CF F=17kHz/C o =502.5 rd/s / D
1.7/C 7.53 /DF 10.7 /DF 8/C
DF 5”n“ Hl‘ il . 5‘ ‘ A1k i W”G‘_HM?H “‘10‘ u o1z 13 14 a8 he 1 18 19 20
Al AL o Skl et bt b N bl 11 B 1s 1a 15 16 1 18 19 20 § ) 0 n
02 OJ9 038 037 OJ6 035 03¢ s 032 on o Q09 008 0. 000 008 o
3 4 6 7 8 910 i . RN PR 4 6 7 8 9100 2 W3 4,05 e 7 8 9100
| L‘O‘}“‘.‘5 '6 06” ‘la‘“l:g ‘025?‘ | “‘0‘4 o SHH‘ 0!? g | 0;‘1 019 OlBQOI?G Ol:.‘0“15‘70‘.‘1“1““01:‘5‘012‘ H;l‘l A Dlé
o 1 Yes 12 P S i S i : B i a g 0 e BlVg! g
1.07 /D 12 /CF 17 /CF 5.025 /D
Return to content
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Alternating current: impedance

of the circuits

Courant alternatif : impédance
des circuits

The impedance is a quantity that generalizes the
notion of resistance, capacitive reactance and
inductive reactance in the case of circuits having
a plurality of different nature. It characterizes how
the circuit impedes the flow of current by giving
the relationship between the voltage and the
resulting current.

However, there is a phase shift between voltage
and current that is they do not spend the same
time by their maximum and we cannot take the
ratio of the instantaneous values, UJ/l, to
characterize the circuit; indeed, this ratio varies in
time. By cons it can be done with either the ratio
of the amplitudes or of the effective values, as in
the case of reactances or with the ratio of
phasors. In the latter case, a complex impedance
is defined

L'impédance est une grandeur qui généralise la
notion de résistance, de réactance capacitive et
de réactance inductive dans le cas des circuits
comportant  plusieurs éléments de nature
différente. Elle caractérise la maniére dont le
circuit freine le passage du courant en donnant le
rapport qui existe entre la tension et le courant
résultant.

Toutefais, il y a un déphasage entre tension et
courant qui fait qu'ils ne passent pas en méme
temps par leur maximum et qu'on ne peut
prendre le rapport des valeurs instantanées, U/I,
pour caractériser le circuit ; en effet, ce rapport
varie dans le temps. Par contre on peut le faire
soit avec le rapport des amplitudes ou des
valeurs efficaces, comme dans le cas des
réactances, soit avec le rapport des phaseurs.

Illustration: a series circuit

Illustration : un circuit série

R
2 [Lox-(1/Com)]
. = Inductance
L
R = Reactance I = Intensity

%
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Impedances and phase shifts of
common circuits

Impédances et déphasages des
circuits usuels

Z=1z1+2z22+123

Z=\/R2 + 22

tgep=Lo/R
Z=Ln-1/C»
tg(p: + o

Z=\/R*+ 1/C*w?*

tg ¢ = -(1/RCw)

o L) L L] 750

Z =\/R2 + (Lo - 1/Cw)?

tgp=(Lo-1/Co) /R

Return to content
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Z 21 22 3

v z1.z2.23
z3.z2 +z1.23 +z2.21

Z=Lm.R /\JR? + L2®?

tgep=R/Lo

Z=Llw - (1/LCw?)

tg(p =4+ w

Z=R/\/1+R2C2x?

tgp=-RCw

tg ¢ = - (CR/L)(L® - 5)

RL
Z2=— -

—_- 2 _ 2
C\/C2+R(L0) &)

1
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Calculation of capacitive
reactance

Calcul de réactance capacitive

At the frequency f and for a capacitance C, the
capacitive reactance is

Xc=1Co=1/2nfC

The f(Xc), Cap. and Q scales and the gauge
mark Xc allow to calculate the approached
capacitive reactance.

A la fréquence f et pour une capacité C, la
réactance capacitive est

Xc=1lCw=1/2zfC

Les échelles f(Xc), Cap. et Q et la marque repere
Xc permettent le calcul approché de la réactance
capacitive.

Example 1
Reactance at 50 Hz for C = 15 pF?

Exemple 1
Réactance a 50 Hz pour C = 15 pF ?

Align 15 pF read on Cap. scale to 50 Hz read on
f(Xc) scale.

Then read 215 Q on Q scale in line with the
gauge mark Xc.

Aligner 15 pF lu sur I'échelle Cap. avec 50 Hz lu
sur f(Xc).

Puis lire 215 Q sur I'échelle Q au droit du repére
Xc.

The first calculation gave the correct positioning
of the decimal point.

A second calculation with D, C and CI scales
gives significant more accurate figures.

Align 5 read on C scale to the gauge mark 1/2x
on D scale.

Move the cursor to 0.15 on Cl and read:
Xc=212.2 Q on C scale.

Le premier calcul a donné le bon positionnement
de la virgule décimale.

Un second calcul avec les échelles D, C et ClI
donne les chiffres significatifs avec plus de
précision.

Aligner 5 lu sur C avec le repere 1/2 de I'échelle
D

Déplacer le curseur sur 0.15 de Cl et lire :
Xc=212,2 Q sur C.

~215 0

50Hz

$4 3% 2 1™ sS4 3 2 00Mz a3 2 0k 843 2 e £ 3 2 100M: 4 3 2 10 43 2 1"
4 100 3 43 1000 3 4 tha 3 43 10ka 3 435 100ka 3 43 1Mo 3 ¢35 10Ma
4 WOH 34 1 7] 3 493 e 2 3 49 100 My ? 3 44y 1M 3 4% 10y ? 4 100 M
3n 4 5 ] 7 8 9 10 20 tan' 130 40 50 60 i
n 4 ; 5 ) 4
3 1 151 ?oomn I's N B :9,1.1‘09\“ 44 ¥ 3 1my 4 2 100 !5‘0! 10,9 ‘50 [
3. 349 1nf 2 343 108X 2 5 43 1000F 2 3 4% 1w 3 48 100F | 2 3 a3 100¢F 3 45 1000y
'0‘6"“’_‘"‘_‘"'6'5‘ e "'6“ T ORI, 3 'o‘_s"' e agns R SR "0'2‘ 9 018 OU o o a1
17 18 19 2 ¢ 3 n [4 4 S ¢ 6 [ 7 8
17 18 19 2 ¢ 3n ¢ 4 s Nl 7 8
& 100 2 s 4 s 0 s 1M 10me 4 : 100 W
7 8 0k 2 3 a4 s e 7|a j00m 2 s s 6 78 1M 5 aCws ¢ 7 o 1OMR
36 | 48 Sho o 7 816 98
PMXe 15 pF
50 Hz 0.15/ ¢l
!
TG 54 3 2 100MR 543 2 1Mz 54 3 TWe F 4 3 7 100wk 545 i 1BE 543 i Iem
_Cl?\ 00 2 3 4 Ol 1.4 19 2 3 H] 100 399 1000 3 349 ha 3 3 89 10ka
diiaein o o1 R tHe I KR 104z S ) 100 14 7 3 a4 W % 43 1000
A 08 09 1 " 2 3n 4 S 6 7 8 9 10
| m il | il nnn ulwy uluul |
7 4 7 120 .
?ocmu s 4 q :g,l. llotf’m 543 3 1mH s 29 : 10M bp ¥ 3 10,9 L 459 ? 601,,»4 0(‘ 4 s'o 190 ollOVON L Xy
100FXch 2 3 45 1000F 2 3 43 1w 2 34 100pF |2 3 435 1000Ff 2 3 4 ? 10000 yF Cop.
vy ' SR 76 ) UG -4 der STV R A0 0% VUL TIPS SR PR 5% PP E
04 LX) 015 I8  GD 06 o ot i ) an . T
T
¢ 3 n ?; B ; 1.8 .6 P 7 8 29 10 e Xy
D o9 1 11 ¢ 12 13 14 15 A8 17 18 19 2 ¢ 3n ¢! 4
Cop. 4 100 2 S 4 sl s 7 83008 2 s s M 2 3 b e
1 2 s 4 3l 678 WK 2 s 446 7 s 100m z $ . &-88
Log x - décibels 0 12 2 ! 36 A8 : 510 o
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Example 2
Reactance at 60 Hz for 250 nF ?

Exemple 2
Réactance a 60 Hz pour 250 nF ?

Align 250 nF read on Cap. scale to 60 Hz read
on f(XC) scale.

Move the cursor to the gauge mark XC and read
~ 10.600 kQ on the Q scale.

Aligner 250 nF lu sur I'échelle Cap. avec 60 Hz lu
sur f(Xc).

Déplacer le curseur sur la marque repére Xc et
lire ~ 10,600 kQ sur I'échelle Q.

The calculation by mean of the D, C and CI scale

and the gauge mark 1/2r give a more accurate
result: Xc =10.610 kQ.

Le calcul avec les échelles D, C et CIl et la

marque repére 1/2z donne plus de précision :
Xc = 10,610 kQ.

|R$ 10600 O | | 60 Hz |
“ ] Wk 54 3 2 100 (354 3 2 10w I ) ¢ 3 2 O f
A 2 343 108 2 3 a3 100Ra {2 3 43 1Ma s e 10Ma s+ tooma $X€
2 100 el 3 0 Wz 3 4 100 M . 1642 ‘f)‘k
) 20 vant! 30 40 50 60 70 80 90 100 120 X
% 2 Poomm[sa 8 2 %xiiPm i 2 . 0w sk 108 349 7% %P0 JE0 Xy
3 a8 100FXe) 2 3 a3 1000F 2 13 43 1w L} 10yF 4 100 3 43 10000f 2 3 4% 10000¢F Cop.
R SWWvdui & S S R SRS LTSS § 9% SUOLL S B T et
3 n ¢ 4 5 ? 6 & 7 8 9 10 ne Xy
(4 S S TR 7 8 9 10 ne x
3 ¢ 3 6 7 5 10 3 . 3 300 M « soomy I
s 4 sl 6 7e e 2 $ ol 1o s asomu f
0 o 714 816 918 120 Log x - décibels
X 250 nF
025/ 60 Hz
160 4 100 MMz ) 10Me $4¢ ) 1M $4 3 2 100 g 343 H 100e
. Ola 3 4 1 $ 4 10a ? 3 & 1000 3 & ko
1) 34 108 s s 100 e 0ee
2 3n 4 5 6 R
8 ol sy w14 2 0w ¥ oW T i AT, i
3 ¢ 100eF 2 3 & 1y 3 e 10¢F 3451 1000 2 3 49 1000 2 3 &3 100004 Cgp,
Nie i S8 i S oA T s
3 n v S 3 [ 7 8 9 10 ne Xy
“D 09 1 1me 12 13 14 15 i 12 18 19 2 ¢ 3 n
Cop 4 0e 2 s ‘ 7 8 00w 2 ¢ 7 & 1Mz
1 sl d s ok i d 7 s t00m
Log x - décibels 0 12 2 36 49 510
10610 O 1/2m
Example 3: inverse calculation Exemple 3 : calcul inverse
. . P .
For what frequency the reactance of a capacitor | Pour quelle fréquence la réactance d'un

C =3 puFis 265 Q?

condensateur de 3 uF est-elle de 265 Q ?

The inverse calculation yields f = 200 Hz

To do this, align 265 Q read on the Q scale to the
gauge mark Xc then read 200 HZ on the f(Xc)
scale in line with 3 pF read on the Cap. scale.

The precise calculation with the C, D and ClI
scales confirms the interpolation to 265 Q made
on the Q scale

Le calcul inverse donne f = 200 Hz

Pour cela, aligner 265 Q Iu sur I'échelle Q avec la
marque repére Xc puis lire 200 HZ sur I'échelle
f(Xc) au droit de 3 pF lu sur I'échelle Cap..

Le calcul précis avec les échelles C-D et CI
confirme l'interpolation a 265 Q faite sur I'échelle
Q.
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W00MEz 5 4 3 2 10w $4 3 2 e 543 10012 24 3 2 10m s¢ 3 2 HL 43 2 Oz §
1006 2334 80 a2 giels UioRa A 84 tooka 2y as w2y un' loMa 2y s 'tooma 1X€
12 3 43 WOMe 3 4% 100N $ 4 1Mz 7 343 WM 3 43 00t : 3 43 164z '(x‘
6 7 8 9 10 20 van' 30 40 S0 60 70 80 90 100 120 X
120
W SN B M i S N R
a8 10nFXe) 2 3 &3 3 s 1eF ¢ 10¢F 1000¢F 4 10000¢F Cop.
PO R TO 0z THREL |
4 S 8 9 10 ne Xy
3 n ¢ 4 5 ¢ 6 @ 7 8 9 10 ne x
AT S 4 s 8 1 o8 oMy ; 3.4 3 e 7 00me : asoome
¢ 3 6 7 4 100k 2 I RS YL R 2 s acwms o3 's fome 2 s 4osowe f
A8 310 812 714 816 918 120 Log x- décibels
X 3pF

'
1pF 2 3 45 10pF 2 3 435 100pF 2 3 a3 1 3 3 45 100F%C) 2 3 4% 1008F 12 3 e 1
- R | S ety al il
C o9 1 Me 12 13 14 15 16 17 18 19 4 3In i ¢ 4
D 09 1 1 12 13 14 15 4 17 18 19 2 ¢ i 3
Cap. b 0 MG 2 L . & 1000 ¢ H 1M
1 2 3 4 3 e 5 10K 2 3 ¢ 3 617 8 100K
Log x - décibels 0 12 2 36 A 510
T

1/2m 265 /D

Return to content
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Calculation of inductive
reactance

Calcul de réactance inductive

At the frequency f and for an inductance L, the
inductive reactance is

X, = Lo =2nfL

The f(XL), L and Q scales and the gauge mark XL
allow the approached calculation of the inductive
reactance.

A la fréquence f et pour une inductance L, la
réactance inductive est

X = Lo=2zfL

Les échelles f(XL), L et Q et la marque repére XL
permettent le calcul approché de la réactance
inductive.

Example 4
Reactance at 2 MHz for L = 500 pH ?

Exemple 4
Réactance a 2 MHz pour 500 pH ?

Align 500 pH read on L to 2 yHz read on f(XL).

Move the cursor to the gauge mark XL and read
6.300 kQ on the Q scale.

Aligner 500 pH lu sur L avec 2 pHz lu sur f(XL).

Déplacer le curseur sur la marque repéere XL et
lire 6,300 kQ sur I'échelle Q.

The first calculation gave the correct positioning
of the decimal point.

A second calculation with D and C scales gives
significant more accurate figures.

Align 2 on C to the gauge mark 1/2x on D, then
read XL = 6.280 kQ on C scale in line with 5 read
on D scale.

Le premier calcul a donné le bon positionnement
de la virgule décimale.

Un second calcul avec les échelles D et C donne
les chiffres significatifs avec plus de précision.

Aligner 2 de C avec la marque repéere 1/2zde D,
puis lire X, = 6,280 kQ sur C au droit de 5 lu sur
D.

6300 0 2 MHz

082 5 3 1hz s 4 3 2 100H ¢ s 2 10M: 343 3, m $43 3 O f
e 3 1080 s 43 100k O U I S 1 S B IRt PR L
o 3 wome 2 3 4 19 s ome s ioome s tsta's e g fXe
10 20 tant 130 40 50 60 70 80 .90 100 120 X
Hintth Y Ht Hity I LLL L R
7 8 A4 120 X
?m"m $4 3 :gl‘l]u?w $4 3. 2 1mM IOVO s 159 2 GO!VM 70' 45'0 190 O‘!oy?‘ L 4
100F Xe) 2 45| 1000F 2 3 4% 14F 4 3,043, 1000F 2 3 45 1000 2 3 43 10000y Cop,
B L Tt e e S S SR Lloaitad Lol cnlto Lo Lot o ™ %
I on (4 4 6 [ 7 8 9 A 10 ne Xy
b} ol ot I v I I J I i i3
n ¢ 4 ' s 8 9 10 ne x
6 7 5 10ME 2 s 4 3 0 7 8oMe 2 < soome
H ] s 6 78 1k s iCps ¢ o 10N ) « somu f
510 ‘82 J1u ‘B8 } 918 120 Log x - décibels
X 500 pH
2 MHz 6280 0
543 2 10Mz 543 2 1M sS4 3 2 W00MEZ 543 2 O 4 2 e 548 2 100 sS4 ¢
2 3 3 1 2 3 as 100 3 } 43 1000 2.3.43 e H 10ka 3 343 100k 2 3
TR G T T S R 100K we 3 5 10Me 45 00z 2 3 43 IMm 2
2 | 3n 4 5 6 7 8 9 10 20 van' 30
L niEn| nn Nk Jullslal nal l L Il i SilL
UL OU UUUUUUYE! L REEL B LA L W Qe T firrhT T
3n S ? 7 8 9 10 30 0 S
$%°3 2 1 543 2 f00mM “s 45 IYMIOMH 3 & 3 2 imM 1004 2 10pH :
3 3¢ f 106 2 3 43 10aFXc) 2 3 4 ? 1000F 2 3 43 1WwF ? )¢ 10¢F G | ) 10f vt’J ? 3
B e L e N s S
17 18 19 14 | 3 n 4 ; S e 6 18 7
415 18 17 18 19 2 ¢ 3n o 4 ‘ ‘
7 8 100k 2 s & 1M 2 5o 8 0Me :
i PrLe ) f \ 1
3 4 5 6 78 WH 2 4 3 6 7 8 100W 2 3 4 S o 5 1ke 2
bk, 36 7, RN 310 612 e
500 pH
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Example 5: reactance at 30 kHz for L = 30 pH ?

Exemple 5 : réactance a 30 kHz pour 30 pH ?

Align 30 pH read on the L scale to 30 kHz read

on the f(XL) scale.

Move the cursor on the gauge mark XL and read

5.6 kQ on the Q scale.

Aligner 30 pH lu sur L avec 30 kHz lu sur f(XL).

Déplacer le curseur sur la marque repéere XL et

lire 5,6 kQ sur I'échelle Q.

The calculation by mean of the D and C scale
and the gauge mark 1/2r give a more accurate

result: XL =5.65 Q.

Le calcul avec les échelles D et C et la marque

repére 1/2 donne plus de précision :
XL =5,65Q.

30 kHz

560
0M 43 1M 54 0oKE 54 3 2 100 9 4is e 34 3 1002 34 3 2 10M 343 2 e
10 4 10 2 Bk 1000 2 3 s 1ka 4 100 $ 49 100ka s 45 1Mo 34 10Ma
10M F 3 49 100M 34 1 3 3 43 0 49 100 Wiz 3 4 1we $ &9 0wme 3 3 &3 100 M-
3n 4 S 6 7 8 9 10 20 tan' 30 40 S0 60
120
Poomn 75 4 § 2 dxm 54 s w54 2 oo XY 2 oW sa9 2 K 70,50 0 4R Xy
100FXcy 2 3 4 5 | 1000F 3 43 1WF 3 4 104F 43 1004F 343 1000 2 3 43 10000%F Cqp,
B Bt R S Ll st ne e L IR DL LB ST €
In (4 4 S e 6 (A 7 8 9 10 ne¢ Xy
W6 17 18 o 2 ¢ 3 n (4 4 5 ¢ 6 @ 7 8
S 7 8 1000 2 4 5 e 1y ‘ 5 e & 1000 : bl ‘ 8 100 M
E 7 8 10R 3 4 5 & 7 8 IOOK 2 3 4 3 6 78 1K 2 3 Aw;e-n)ow
24 36 A8 510 012 T 816 918
X 30 pH
30 kHz 5.650
16w 54 300 MMz 543 10Me sS4 3 1M 94 3 2 100 Wiz 34 3 2 0w 34 1wa 54 3 001 3¢ 3
- 00la 2 4 0la 3 34 1 T 349 10a 34 1008 2 3 43 ha 3 4:4% J0Mn 2 94 100k 2 3
- O1M ¢ " 34 10t 2 B 100K 34 1 2,349 w0oee ‘4 100 M4 ) 4 M 3 3
A o8 09 1 2 ‘ 3n 4 S 6 7 8 10 20 van' 30
LU T i | T
n 120
on s3 2 M sad 2 Toomn Tee 3 Bl sa s w20 0 om0 2 ool 50 2 O 70 ,%0 0400 Xy
100pF 2 3 43 1nF 34 1qdl¢. ¥ ¥ & 1000F 2 3 4 1w 3 109F 3 3|es 100¢F 3 45 1000¢F 2 3 43 10000¢F Cop.
PR ANGRTRT T ", R 5 ARSI W T RATYART 2] o 02 T B A ol o on on o %
16 17 18 19 2 ¢ . n [4 4 S ¢ .6 0 7 8 9 10 ne Xy
o 09 1 11 ¢ 12 13 14 15 ki 17 18 19 2 ¢ n ¢! 4 S
Cap b 0 2 . B 7 8 100M 2 3 N 1M 4 3 10Me
1w 3 . % o 78 WH 2 3 4 5 e 7 8 00K s 4 5 6 7 8 1NQ
Log x - décibels 0 12 2 36 48 510 o2 7
Example 6: inverse calculation Exemple 6 : calcul inverse
How much is the frequency where a coil of | A quelle fréquence une bobine de 80 mH
80 mH has a reactance of 25 Q? présente-t-elle une réactance de 25 Q ?
50 Hz 250
1612 O 00MHz 5 4 3 oMz sy 1M 343 100
C" - 0ol 3 4 Ola ? e 10 2 3 4 10a 313 4% o
i ramen 01z 3 4 1 34 ok 3 34 100K 7 13 43 1w
A 08 09 1 2 3n 4 19 6
| i
I | { J I i
o8 09
8 m&on $4 3 100M s 2\ 10M ‘ "' 2 l: 4 5' ?DO'M 7' ‘4 B ‘9‘1- I,U(r)nﬁ
1pF s 43 10pF 3 43 100pF 3 43 18F . 10nF{XCh 3 43 1000F 2
o Doty g b e R e
C o9 1 e 12 13 14 15 18 17 18 19 2 ¢ jon ¢
D 09 1 e 12 13 14 15 Ai8 17 18 |19 2 ¢ 1
Co. b o : 30043 a7 8 oow : ‘
1he 243 6 78 VW 13 4
Log x - décibels & 12 24 36 ' a0
T
'
I

%
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The more accurate calculation with the C and D
scales indicates a frequency of 49.7 Hz.

These same scales indicate that the impedance
is 25.1 Q at a frequency of 50 Hz.

Le calcul plus précis avec les échelles C et D
indique une fréquence de 49,7 Hz.

Ces mémes échelles indiquent que l'impédance
serait 25,1 Q) pour une fréquence de 50 Hz.

250
'
543 3 0N 4 ITHEX] 100K .3 10H: 43 1 I}
s 43 ma 1080 +3 100k s 43 Ma s 45 10Ma PR
iy iome 100k e . 0 Mz 100 iz
7 8 9 1d 20 w30 40 SO 60, 70 80 9
|
T v
08 09 n 1o in
8 v S e e | S o TR ~ s Sl s
1pF . 10pF 3 &5 100pF 2 3 4 10 2 3 a3 QX 45
i 2 s 7 e S
C o9 | £1C: 12 13 14 1S 18 17 18 19 2 ¢ | 3
: A
3 n ¢ 4 5 ¢ 6 @ 7 [ )
"
1M : 10Mme . . 5 100 M : A%
8 100M : 2 ] 6 7 8 I1NR 4Cops 0K : ) 4t
310 o2 7 81 9%
! 1
Index 1 80 mH
49.7 Hz
16 . 2 00MAz 34 3 2 M sS4 3 7 1Mz 54 3 WOME 54 3 2 KOWR s4 3 2 1IN
O0ta 3 343 Ola 2 3 43 y 3y 4% 108 3 din OOR 3l e g ekl e e g a0l
L iL . 10t 2 4 100K 104 3 3 43 W0 3 49 100
A o8 09 1 2 3n 4 6 7 8 9 10
7 8 9 10 20 30 40 50 60 70 B0 90 100 120 Xy
M . ANI10mH s 4 s 2 dmM 84T 2 bW 2T s 2 qop s 2 M T ey 2 ol
ey . 1000F 2 . 1eF 3 45 1pyF 45 100 2 45 1000¢f 2 3 43 10040yF Cop.
[eepi B et ISR D LB TR €
S 0 (2 a 5 e .6 % 8 9 10 1ne Xy
|
o o9 1 ¢ 12 13 14 15 8 17 18 19 2 ¢ 3on ¢
Cop. & e . 7 8 100%H 2 s o e
1 2 3 4 3 e 78 Wk 4 3 e 7 8 100W 2 3ald
Log x - décibels 0 12 2 36 48 S 8
1/2m

Index 10

Return to content
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Calculations of resonance Calculs de résonance

Resonance frequency F of alternating current
circuit with inductance L and capacitance C is
expressed by the formula:

1

2nVLC

This kind of calculation may be done with joint
use of L, Cap., f and ' scales and gauge marks
Cap. and Cap..

F=

La fréquence de résonance d'un circuit en
courant alternative avec une inductance L et une
capacité C est exprimée par la formule :

1

F=—"—7—
an/ﬁ

Ce type de calcul peut étre effectué en utilisant
conjointement les échelles L, Cap., f et sa
marque repere Cap. et f.et sa marque repere
Cap..

Frequency scale mark Fréquence échelle marque
1 Hz to 50 kHz f Cap. de 1 Hz a 50 kHz f Cap.
10 kHz to 500 MHz f Cap. de kHz & 500 MHz f Cap.

Example 7
L=10puHand C=2 uF

Exemple 7
L=10pHetC=2pF

Align 2 pF read on Cap. to the Cap. mark of the f
scale.

Move the cursor on 10 puH read on L scale and
read the result on the f scale: F = 35.6 Hz.

Aligner 2 uF lu sur Cap. avec la marque Cap. de
I'échelle f.

Déplacer le curseur sur 10 pH lu sur L et lire le
résultat F = 35,6 Hz sur I'échelle f.

2 uF 10 pH
i i
4 120 .

;%mb?w £:9.79. 2 1mH i 4 20 1004 59 2 109 [ 459 2 60\,,»4 7°~ N 89 :90 olloy?< 2
s 1008F 2 3 a8 1w i 3 4% 10vF 3 3 a8 1000F 2 3 45 1000)F 2 3 45 10000yF Cop.
““"r\”o‘.s'”“"""”"I 02 09 o8 OU o o1 0% o3 ok om0l A
3 n ? 4 4 S ? 6 (3 7 8 9 10 ne¢ Xy

5 ¢ 6 7 8 10 ne x
= 10MH i s 1448 oo « soome f
5 e 2 5 demy 48 fowe « sowe f

214 816 918 120 Log x- décibels

35.6 kHz

Example 8
L=2pyHand C=2pF

Exemple 8
L=2uHetC=2puF

With the Cap. mark the result is off the rule, thus
the Cap. mark is used.

The result read on f' scale is F = 79.5 kHz

Avec la marque Cap. le résultat est hors de la
régle, aussi on utilise la marque Cap..

Le résultat lu sur f' est F = 79,5 kHz

2 uH

T
! L] I I
$ 4 1mH i 20 ? 100 59 3. 2 so‘,e s -59 SOM 7°< ‘5!0 :90 JP& leo Xy
PR 5 SO UG AR I 1 ZRL. L AT D 6 TR, S 0 N SR 0 W 0 I P O L~
03 [l 02 oy 116 3 v 33 2 03 o1 1
i AVTIRARN WP A0 2NN TRPRNE OO [POPNC YPRTIOPR AHPTIOE JN F dh
D o9 ‘; e 12 13 1“1 *ie 17| 18 19 2‘ (4 ) 3
C",‘ w0 2 3 4+ 5 6 7 bwows 2 s . T
{ 1 2 3 4 s 6 7 b 10W 2 3 '3 67 8 toow
Log x - décibels P o ‘24 36 J A !
T

%
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We could increase the accuracy of results using

the A-B & CI scales and the gauge mark 1/47° on
A scale.

On pourrait augmenter la précision des résultats
en utilisant les échelles A, B et Cl et la marque
repére 1/47* de I'échelle A.

16e 54 00MR 5 ¢ 3 oMz 54 3 Mz 54 3 2 100Mk 54 3 T T e sy ¢ wdm 3|
o 001a 4 Oln 34 e 2y as ldn 2 3 a3 ) 1000 2 33 s e ¢ $419 10k 2 3 &3 100ka
R o1 e . 0H . 100K 3a i s ope . wome 2 3 avy 1M
A 08 09 1 2 3n 4 S 6 7 8 9 1 20 ant 3
8 0o o I&N ‘ 1004 L) 2\ 104 ‘ i Xg 34 5‘ 3 ?NI-N 7‘ . q g‘lxlluomn 243 3 imH sS4 ‘,‘0 2
1pF 3 34 10pF 2 3 &35 100pF 3 4 10F 3 34 10nF Xe} 2 43 1008F 2 3 &3 14F 48
” = o B L TSRy B Y B T RPR
C o9 1 e 12 13 14 15 18 17 18 19 2 ¢ 3 n [4 4
20/B

In the case of Examples 7 and 8 the same
significant digits are read. A check with an
electronic calculator shows that the results
obtained with the slide rule are very accurate.

Dans le cas des exemples 7 et 8 on lit les
mémes chiffres significatifs. Une vérification avec
une calculatrice électronique montre que les
résultats obtenus avec la regle a calcul sont trés
précis.

Return to content
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Relation between wave length

and frequency

Relation entre longueur d'onde
et fréguence

The speed of light in vacuum

€ = 299,792,458 m/s

We consider the relation between the wave
length A and the frequency F is:

FxA=3.10°m/s

With F in Hz and A in meter.

The gauge marks A on the slide and f on the
body of the rule are used to establish the
relationship between Cl and D scales when these
two marks are aligned.

La vitesse de la lumiere dans le vide est
c =299792 458 m/s.

On considere que la relation entre la longueur
d'onde A et sa fréquence F est :

FxA=310°m/s
Avec F en Hz et A en metre.

Les marques repére A sur la réglette et f sur le
corps de la regle permettent d'établir cette
relation entre les échelles Cl et D lorsque ces
deux marques sont alignées.

30 n 33 Tix
[ITTNIT nhmh‘-‘-h T )
.M‘HH‘HM;H‘!“‘H“ \134‘6‘ “\'!lh] \3\}3
Wave lenght A: meters 004 n 003 (i")y :
Longueurd'onde A : métres w87 L8 .2 1000 X
13 0.12 0.11 0.1 -
; =i
9 10 Xy
Frequency F: GHZ l_’\\ i}l%ﬁn‘u"‘1!"l\“\\‘|\“il"Z}IM‘J:\“;D“!:‘\E‘}‘J\H\J\‘;V HUUU
s e g \\Iwué\m‘:mgsur\\\1\() o e
Fréquence F : GHz 2

Examples 9 to 13: see figure below Exemples 9 a 13 : voir image ci-dessous

0.0143m 0.1lm 0.003m

ST 55 6 L 14 e 18 3s « a3 ss 6 < Sintg 0.01x
T bM‘ L 1nme R78 1877 " :75 157} i 1674 1773 1872 197 o : 1555 \ 4 4|9 0,1 x cot
s 684 ) 9 12 1377 e 1575 1674 1773|1872 1971 2070, 5 4050 5040 7920 8090 <X Sin cos 0.1x
OF 3 1 6 7 8 | 9 10 1 19 20 30 n ss Tix
= i e ARARRAT AR ARNN) WA R ATTTRTEn ksl s Lot Coae ol S Gl
ng %' ol S o ays o ous © b2 8 ot :)lw & o4 P R s (_"_.')'
K 1 7 8 910 | L2 3 4 5 3 ke s e ? 1000 x
¢l ) 09 05 04 [ 116 Q15 0,14} 0.13 0.12 0.1 +
c 1 1 12 19 2 ¢ 3 n 4 2 7 8 10 Xy
o 1148 18 19 2 ¢ n (4 8. Q. . 8 1 i f
LL3 2s 3 ° 7 8 9 10 2| 30 $00 “lCW ?OW 10 2 S 10° o
Lz e 112 120 125 1.50 135 1.40 .80 1.90 B 210 220 X 3 e
L 1 218 102 "o s 101 103t % "107 108 | R T o

Return to content
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Gains and attenuations Gains et atténuations

The ratio of the output to the input values of
guantities of the same kind in a device or system
is:
e gainiftheratio>0

attenuation is the ratio< 0

The gain or attenuation is expressed in decibels
dB = 20 logye(output value/input value).

If the values are powers instead of voltages
or currents, the result must be divided by 2.

Le rapport des valeurs de grandeurs de méme
nature a la sortie et a I'entrée d'un dispositif ou
d'un systeme est :

e gainsile rapportest>0

e atténuation si le rapport est< 0

Le gain ou l'atténuation s'exprime en décibels
dB = 20 logyo(valeur de sortie/valeur d'entrée.) Si
les valeurs sont des puissances au lieu de
voltages ou intensités, on divise le résultat
par 2.

First method (from 0 to 20 dB, ratio 1/1 to 10/1):

e align the lowest value read on C with the
highest read on D
and in line with the index 1 of the C scale,

read the result on the decibels scale.

Premiere méthode (de 0 a 20 dB, ratio 1/1 a
10/1) :

e aligner la plus faible des valeurs lue sur C
avec la plus forte lue sur D
et au droit de l'index 1 de I'échelle C, lire le

résultat sur I'échelle décibels.

Example 14 a

Input voltage U;= 4 v, output voltage U,= 8 v
Gain = 6.02 dB

Exemple 14 a

Tension en entrée U;= 4 v, et en sortie U,= 8 v
Gain = 6,02 dB

Index 1 4/C
) 1 54 s 7 100Mz 54 00z 5 4 [ s 2 10w 54 2 0w « 3 1 543 2 Ol f
s 4 1oh 2 34 1008 2 343 I . 1080 s 45 100K 2 3 43 iMa s a5 toMa 2y 4 rooma (X€
TR AL 100pa 3 e g 108 ¢35 100 $ 43 IMe o8 10Me s e 100 s 3y e piXe
3n 4 S 6 7 8 9 10 20 tan' - 30 40 S0 60 70 80 90 100 120 X
T ¥ f it it T T t
08 09 n
8 1odon 54 3 W se3 2 w33 2 18 a3 2 Poomn 750 % alum sa s 3 aeh 34 ® 2 toom X5 2 g
197 2 3 10pF 2 3 a3 100 pF 2 3 43 1oF 2 3 s 100FXe) 2 3 a3 1000F 3 349 1y 348 10¢F P 343 1"
& T L  ERRetu RN IR FR O B s S RS UESO T
C o9 e 12 13 14 18 8 47 48 9 et y 3 n 14 S i 6
178 Ay 4 5 n (4 S (4 7 8 10 ne x

4
8 1we s
5 o 7 8 100K
A8 Y

4 3 ¢

510 g 012

7 5 10M2
7 8 1k

4 soome I
« sowa f
120 Log x - décibels

Second method (from 0.09 to 100 dB):

e On back face, align index 1 of the C scale with
the gauge mark dB on D scale

Then, in line with the ratio previously
calculated and displayed on a LL scale, read
the result in dB on the C scale. The result in
Neper is read on D scale.

Ratio displayed on LL1 if 0.09 < ratio < 0.9
Ratio displayed on LL2 if 0.9 < ratio < 9.5

Ratio displayed on LL3 if 9 < ratio < 100.

Seconde méthode (de 0,09 a 100 dB) :

e au verso, aligner lI'index 1 de I'échelle C avec
la marque repére dB de I'échelle D,

ensuite, au droit du ratio préalablement
calculé et affiché sur une échelle LL, lire le
résultat en dB sur I'échelle C. Le résultat en
Neper se lit sur I'échelle D.

Affichage sur LL1 si 0,09 < ratio < 0,9
Affichage sur LL2 si 0,9 < ratio < 9,5
Affichage sur LL3 si 9 < ratio < 100.

Example 14 b: ratio Uy/U; = 2
The answer is 6.02 dB and 6.93 in Neper.
Neper =dB x (In 10/ 2) ~dB x 1.1513

Exemple 14 b : rapport U,/U; = 2

La réponse est 6,02 dB et 6,93 en Neper.
Neper = dB x (In 10/ 2)~dB x 1,1513

%
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cl i 09 s 04 n o3 02 019 018 0| 016
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Example 15 Exemple 15
Input power = 20 W, Puissance d'entrée = 20 W,
output power = 1 kW. puissance de sortie = 1 kW.
In line with 50 (=1000/20) read on LL3, 34 dB is | Au droit de 50 (=1000/20) lu sur LL3 on lit 34 dB
read on C scale. The gain in power is 34/2 = | sur C. En puissance, le gain est 34/2 = 17 dB
17dB
33/C=>17 dB
i [ 12 . li‘ ¥ 1‘5 1,8‘ Fad + 25 A,
im0 wre | izze 1377 'iaze 1875 1674 173 1872 1971 2070 2565
1080 ' n7e 1278 1377 1476 1575 1674 1773 1872 19712070 2565 £
AN RARRL AN ottt SRt 8 Bl B 8
™ 5 " | M é HUUUNRN ;1 1 \‘ev‘u“”mg‘ il “‘1‘0 “\,‘” MR
02 049 038 047 0‘16 03s 04 033 032 Qll ol 009 008
" ‘l L3 §‘7‘!‘9I9 Y 2H !HM_ | -] 6 7 O
06 s 04 n os
T UL AL PSR O M TR I P a7 R S T A
17 s 19 2e el S o S i A g
S R TR 7T AR 0 "4 sh T A
120 1‘25 S ‘LS‘O‘} ; “ H‘I‘:S." 140 ' “ o 150 “‘me(‘; g
‘1018 ‘1oz 1028 os M oss T g 1065 108
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